Close-Out 3 v 3 Drill

Frame 1

Frame 2

x3 starts the drill on the baseline
1x swings the ball to the offense creating the rotation

x2 here is responsible for the 2nd pass, in this case to 1

Frame 3

Frame 4

On the skip pass x3 takes the receiver

Play 3on 3




Close-Out Dirill 1

Frame 1 Frame 2
4 players start outside the 3pt line 1 passes to 2 and sprints to close out on 3 who has received a
1 starts with the ball pass from 2. 3 passes to 4 as 2 is sprinting to close out on 4.

1&2 are on a team, 3&4 are on a team

Frame 3

They then play 2 on 2 on one side of the floor



Close-Out Dirill 2
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Frame 1 Frame 2
4 v 3 Close-Out / Disadvantage x1 throws a pass to 4 then closes out.
4 offensive players outside the 3pt line. 4 passes to 2 -> x2 closes out while x1 must be in help and then 2
3 defensive players underneath the basket. passes to 1 and x3 closes out.

1 defender starts with the ball.

Frame 3

x3 has the ball
X2 is in deny
x1is in help



Close-Out Dirill 3

Frame 1

Frame 2

Frame 3

Play 1 on 1 on the side
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Tandem Close-Outs 1

Frame 1

Frame 2

Coach starts with the ball
x1 and x2 start in a tandem defensively
4 offensive players on the perimeter (3, 4, 5, 6)

Coach can pass to 4 or 6
x1 must close out to 4 -> 4 passes to 3
x2 must close out to 3

Frame 3

Frame 4

3 quickly passes to 4
4 passes to 6 - x2 must close out to 6
Ball swung to the corner where x1 closes out

Drill ends w/ x1 and x2 being in proper positioning




Tandem Close-Outs 2

Frame 1

Frame 2

Coach starts with the ball
x1 and x2 start in a tandem defensively

4 offensive players on the perimeter (3, 4, 5, 6)

Coach can pass to 4 or 6
x1 must close out to 4 -> 4 passes to 3
x2 must close out to 3

Frame 3

|29

Frame 4

3 quickly passes to 4
4 passes to 6 - x2 must close out to 6
Ball swung to the corner where x1 closes out

Drill continues when 5 passes to the coach.
3 and 4 become the defenders

5 and 6 step off

x1 and x2 become offensive players

7 and 8 become new offensive players




Tandem Close-Outs 2

x1 0 3 " 7

X2 8

Same action as before



Tandem Close-Outs 3

Frame 1

Frame 2

Coach starts with the ball
x1 and x2 start in a tandem defensively
4 offensive players on the perimeter (3, 4, 5, 6)

Coach can pass to 4 or 6
x1 must close out to 4 -> 4 passes to 3
x2 must close out to 3

Frame 3

Frame 4

3 quickly passes to 4
4 passes to 6 - x2 must close out to 6
Ball swung to the corner where x1 closes out

Now they play 2 on 2 on one side of the floor.
Only score on defensive stops.

Defense gets a stop -> stay on defense

If offense scores or gets fouled -> go to defense
Game to 6 each stop is 1 point




